IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

In Re: OAKWOOD ACCEPTANCE CORPORATION, LLC Chapter 11

Debtor

Case No.02 13395(PJW)
[Jointly Administered Case No. 02-13396 (PJW)]

FIRST AND FINAL APPLICATION OF MAPOTHER & MAPOTHER, P.S.C. FOR COMPENSATION FOR SERVICES RENDERED AND REIMBURSEMENT OF EXPENSES AS COUNSEL TO OAKWOOD ACCEPTANCE CORP.

FOR THE PERIOD FROM 10-22-03 THROUGH 4-12-04

Name of Applicant:			Mapother	Mapother & Mapother, P.S.C.		
						
Authorized to Provide Professional Services to:			Oakwood I	Oakwood Acceptance Corp.		
Date of Retention:			12-18-02	12-18-02 [Docket No. 271, Ex. A]		
Period for which compensation and reimbursement is sought:			10-22-03	10-22-03 thru 4-12-04		
Amount of Compensation sought as actual, reasonable and necessary:			§ 9,642.50			
Amount of Expense Reimbursement sought as actual, reasonable and necessary:			\$2,481.71			
This is an:interim _X final application						
The total time expended for fee application preparation is approximately $\frac{2}{0.00}$ hours and the corresponding compensation requested is approximately $\frac{0.00}{0.00}$.						
If this is not the first application filed, disclose the following for each prior application:						
		Requested		Approved		
Date Filed	Period Covered	Fees	Expenses	Fees	Expenses	
N/A						

Local Form 101 (Fee Application Cover Sheet)

ATTACHMENT B TO FEE APPLICATION

Name of Professional Person	Position of the Applicant, Number of Years in that Position, Prior Relevant Experience, Year of Obtaining License to Practice, Area of Expertise	Hourly Billing Rate (including changes)	Total Billed Hours	Total Compensation
	SEE ATTACHMENT B CONTINUATION			
Grand Total:				
Blended Rate:				

COMPENSATION BY PROJECT CATEGORY

Project Category (Examples)	Total Hours	Total Fees
Asset Analysis and Recovery	101.5	\$9,642.50
Asset Disposition		
Business Operations		
Case Administration		
Claims Administration and Objections		
Employee Benefits/Pensions		
Fee/Employment Applications		
Fee/Employment Objections		
Financing		
Litigation	-	
Plan and Disclosure Statement	·	
Relief from Stay Proceedings		
Tax Issues		
Valuation		
Other (Explain)		

Local Form 102 (Fee Application/Attachment B)

ATTACHMENT B CONTINUATION TO FEE APPLICATION

Name of Professional Person	Position of the Applicant, Number of Years in that Position, Prior Relevant Experience, Year of Obtaining License to Practice, Area of Expertise	Hourly Billing Rate (including changes)	Total Billed Hours	Total Compensation
John D. Meyers	Attorney, 6, Replevin/Bankruptcy, 1978, Replevin/Bankruptcy	\$95	3.50	\$332.50
Ryan J. Ruehle	Attorney, 2, Replevin/Bankruptcy, 1999, Replevin/Bankruptcy	\$95	47.80	\$4,541.00
Lisa A. Herndon	Attorney, 13, Replevin/Bankruptcy, 1994, Replevin/Bankruptcy	\$95	8.80	\$836.00
Merv Warren	Attorney, 2, Replevin/Bankruptcy, 1986, Replevin/Bankruptcy	\$95	.40	\$38.00
Christine D. Campbell	Attorney, 2, Replevin/Bankruptcy, 2000, Replevin/Bankruptcy	\$95	1.60	\$152.00
Robert D. McIntosh	Attorney, 1, Replevin/Bankruptcy, 2000, Replevin/Bankruptcy	\$95	.20	\$19.00
Elizabeth B. Alphin	Attorney, 2, Replevin/Bankruptcy, 2002, Replevin/Bankruptcy	\$95	.40	\$38.00
Rebecca L. Hudson	Attorney, 1, Replevin/Bankruptcy, 1997, Replevin/Bankruptcy	\$95	2.50	\$237.50
Bonnie J. Oliver	Paralegal, 13, Replevin/Bankruptcy, N/A, Replevin/Bankruptcy	\$95	.20	y\$19.00
Beckie S. Huelsman	Paralegal, 4, Replevin/Bankruptcy, N/A, Replevin/Bankruptcy	\$95	24.50	\$2,327.50
Fawnda F. Walters	Paralegal, 4, Replevin/Bankruptcy, N/A, Replevin/Bankruptcy	\$95	2.00	\$190.00
Jacqueline L. Gardner	Paralegal, 1, Replevin/Bankruptcy, N/A, Replevin/Bankruptcy	\$95	9.60	\$912.00
Grand Total:				\$9,642.50

Blended Rate: \$95*

^{*} This rate represents a blended rate originally negotiated with this client. Attorneys and paralegals billed at the same rate. The normal or customary billing rates for attorneys with Mapother & Mapother, P.S.C. ranges from \$145-\$185 per hour for attorneys and \$65 per hour for paralegals. \$3,448.50 of the total \$9,642.50 (35.76%) requested in this application is for work done by paralegals. 64.24% of the work was done by attorneys Assuming that the attorneys who billed work on these matters would have billed their time at the customary rate of \$145 per hour, the weighted/blended rate represented by this application would have been \$116.39 per hour [35.76% x \$65/hr. = \$23.24/hr 64.24% x \$145/hr = 93.15/hr. \$23.24 + 93.15 = \$116.39]. Therefore the fee requested by this application is less than the customary fee that could have otherwise been charged to this client.

Additional Statements relative to First and Final Application of Mapother & Mapother, P.S.C. Pursuant to 11 U.S.C. §327

- This Court has jurisdiction over this application pursuant to 11 U.S.C. §330, 28
 U.S.C. §1334, this being a core proceeding pursuant to 28 U.S.C. §157.
- 2. The subject Chapter 11 Bankruptcy Petition was filed in the United States Bankruptcy Court for the District of Delaware on November 15, 2002.
- 3. Pursuant to the Court's Order dated December 18, 2002, Docket Number 271, Exhibit A of Jointly Administered Case No. 02-13396 (PJW), the applicant was retained to continue to provide legal services to this Debtor.
- 4. The legal services provided to this Debtor were representing it in state courts for the collection of consumer debts and for replevin/possession of personal property securing loans made and/or financed by the Debtor. Applicant also defended counterclaims filed against the Debtor in those courts. Applicant also represented Debtor in various bankruptcy courts, in Chapter 7 and 13 matters, on these consumer debts by seeking relief from the §362 Automatic Stay, negotiating treatment in Chapter 13 plans, etc.
- 5. The professionals and paraprofessionals who have provided services to the estate pursuant to this application have been listed in the continuation to Attachment B to this application.
- 6. Counsel's efforts have resulted in the return of personal property securing loans to the Debtor, defense of the Debtor in state court actions and favorable treatment of the Debtor in Chapter 13 proceedings where it is a creditor.
 - 7. This is Mapother and Mapother's First Interim and Final Fee Application.
- 8. Pursuant to Local Rule 2016-2(f), the undersigned certifies that he has reviewed the requirements of that Rule and believes this application complies with that Local Rule.

9. The undersigned counsel certifies that all the time charged and services provided were reasonable to the best of applicant's belief.

WHEREFORE, Mapother & Mapother, P.S.C. respectfully prays for an Order allowing fees in the sum of \$9,642.50 and expenses in the sum of \$2,481.71.

Respectfully submitted,

MAPOTHER & MAPOTHER, P.S.C.

BY:

Thomas L. Canary, Jr.

801 West Jefferson Street Louisville, Kentucky 40202

Phone: (502) 587-5421 Fax: (502) 587-5444

CERTIFICATE OF SERVICE

I hereby certify that a true copy of the foregoing First and Final Application of Mapother & Mapother, P.S.C. for Compensation for Services Rendered and Reimbursement of Expenses as Counsel to Oakwood Acceptance Corp. been mailed to Counsel for Debtor, Michael G. Busenkell, Morris, Nichols, Arsht & Tunnell, 1201 N. Market Street, P.O. Box 1347, Wilmington, DE 19899; and to the U.S. Trustee, 844 King Street, Room 2207, Lockbox #35, Wilmington, DE 19899-0035, this 25th day of June, 2004.

MAPOTHER AND MAPOTHER,

BY:

Thomas L. Canary, Jr.

Counsel for Plaintiff

801 West Jefferson Street Louisville, Kentucky 40202

Phone: (502) 587-5421

Fax: (502) 587-5444

UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

IN RE:)
Oakwood Acceptance Corporation, Ll	LC)
Debtor) Case No. 02-13395 (PJW)
)) [Jointly Admin. Case No. 02-13396 (PJW)])
N39888	
	ORDER
	* * * *
This matter having come before	re the Court on the First and Final Fee Application of
Mapother and Mapother, P.S.C., the O	Court having considered said Application and being
otherwise sufficiently advised,	
IT IS HEREBY ORDERED A	AND ADJUDGED that the Application of Mapother and
Mapother, P.S.C. for fees in the sum	of \$9,642.50 and costs in the sum of \$2,481.71 be, and
hereby is, APPROVED.	
-	JUDGE
	DATE:
This Order tendered by:	
MAPOTHER & MAPOTHER, P.S.C. BY: Thomas L. Canary, Jr. 801 West Jefferson Street Louisville, Kentucky 40202	
Phone: (502) 587-5421 Fax: (502) 587-5444	